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SURFACE AREA AND VOLUME OF A
SPHERE



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. A solid sphere of radius 3cm is melted and
then cast into small sphereical balls each of
diameter 0.6 cm. Find the number of balls thus

obtained.

o Watch Video Solution

2. How many spherical bullets can be made out
of a solid cube of lead whose edge measures

44cm, each bullet being 4cm in diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_GYwXIGv6zTz6
https://dl.doubtnut.com/l/_dDfZpna4cLxQ

3. A measuring jar of internal diameter 10cm is
partially filled with water. Four equal spherical
balls of diameter 2cm each are dropped in it
and they sink down in water completely. What
will be the change in the level of water in the

jar?

o Watch Video Solution

4. A hemisphere of lead of radius 7 cm is cast

into a right circular cone of height 49cm. Find


https://dl.doubtnut.com/l/_dDfZpna4cLxQ
https://dl.doubtnut.com/l/_Wm9jJQGE6tFS
https://dl.doubtnut.com/l/_TPbET0YkfOKi

the radius of the base.

o Watch Video Solution

5. The diameter of the moon is approximately
one fourth of the diameter of the earth. What
fraction of the volume of the earth is the

volume of the moon?

° Watch Video Solution



https://dl.doubtnut.com/l/_TPbET0YkfOKi
https://dl.doubtnut.com/l/_CCnkDtW8ad3v

6. A cube of side 4cm contains a sphere
touching its side. Find the volume of the gap

in between.

o Watch Video Solution

7. A capsule of medicine is in the shape of a
sphere of diameter 3.5mm. How much
medicine (Emm3) is needed to fill this

capsule?

° Watch Video Solution



https://dl.doubtnut.com/l/_Sp4qKu3zncyH
https://dl.doubtnut.com/l/_5pkveZCKRXux

8. A cube of side 4 cm contains a sphere
touching its side . Find the gap in between

them.

° Watch Video Solution

9. The dome of a building is in the form of a
hemisphere. Its radius is 63m. Find the cost of

painting it at the rate of Rs. 2 per sq.m.

° Watch Video Solution



https://dl.doubtnut.com/l/_5pkveZCKRXux
https://dl.doubtnut.com/l/_c985ceffZ753
https://dl.doubtnut.com/l/_zBSkjAiafSUd

10. Assuming the earth to be a sphere of
radius 6370 km, how many square kilometres
is area of the land, if three-fourth of the

earth’s surface is covered by water?

o Watch Video Solution

11. A storage tank consists of a circular cylinder
with a hemisphere adjoined on either end. If

the external diameter of the cylinder be 1.4m


https://dl.doubtnut.com/l/_4j5gfTfc2uMn
https://dl.doubtnut.com/l/_2qGdpmEEhPAi

and its length be 8m, find the cost of painting

it on the outside at the rate of Rs. 10 per m?.

° Watch Video Solution

12. The diameter of the moon is approximately
one fourth of the diameter of the earth. Find

the ratio of their surface areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_2qGdpmEEhPAi
https://dl.doubtnut.com/l/_uSMvem1q2ibA

13. The front compound wall of a house is
decorated by wooden spheres of diameter 21
cm, placed on small supports as shown in Fig
13.32. Eight such spheres are used for this
purpose, and are to be painted silver. Each
support is a cylinder of radius 1.5cm and
height 7cm and is painted black.Find the cost
of paint required if silver paint cost 25 paisa

per cm? and black paint cost 5 paisa per em?

° Watch Video Solution



https://dl.doubtnut.com/l/_unPvpw1JJXwu
https://dl.doubtnut.com/l/_2xDERJ6oOxAt

14. A hemispherical bowl is made of steel 0.5
cm thick. The inside radius of the bowl is 4cm.

find volume of steel

o Watch Video Solution

15. The volume of the two spheres are in the
ratio 64:27. Find the difference of their surface

areas, if the sum of their radii is 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_2xDERJ6oOxAt
https://dl.doubtnut.com/l/_GevAJsM87UJW

16. A cylinder of radius 12cm contains water to
a depth of 20cm. A spherical iron ball is
dropped into the cylinder and thus the level of

water is raised by 6.75 cm. Find the radius of

22
the ball. (use T = 7)

o Watch Video Solution

17. A vessel in the form of a hemisphereical
bowl is full of water. The contents are emptied

into a cylinder. The internal radii of the bowl


https://dl.doubtnut.com/l/_IrrlxLZw6cdj
https://dl.doubtnut.com/l/_h1OMk3PToGsP

and cylinder are respectively 6cm and 4cm.

Find the height of water in the cylinder.

° Watch Video Solution

18. A dome of a building is in the form of a
hemisphere. From inside, it was white-washed
at the cost of Rs. 498.96. If the cost of white-
washing is Rs. 2.00 per square metre, find the
inside surface area of the dome and volume of

the air inside the dome.

° Watch Video Solution



https://dl.doubtnut.com/l/_h1OMk3PToGsP
https://dl.doubtnut.com/l/_uIXQ1EHToF9B

19. Twenty seven solid iron spheres, each of
radius r and surface area S are melted to form
a sphere with surface area §' . Find the radius

r of the new sphere.ratio of Sand S'.

° Watch Video Solution

20. A wooden toy is in the form of a cone
surmounted on a hemisphere. The diameter of

the base of the cone is 6cm and its height is


https://dl.doubtnut.com/l/_uIXQ1EHToF9B
https://dl.doubtnut.com/l/_SeUm8275KmJN
https://dl.doubtnut.com/l/_5bSHenL5crMI

4cm. Find the cost of painting the toy at the

rate of Rs. 5 per 1000cm

o Watch Video Solution

21. A toy is in the shape of a right circular
cylinder with a hemisphere on one end and a
cone on the other. The height and radius of
the cylindrical part are 13cm and 5cm
respectively. The radii of the hemispherical and

conical parts are the same as that of the


https://dl.doubtnut.com/l/_5bSHenL5crMI
https://dl.doubtnut.com/l/_neYJhqEODFJh

cylindrical part. Calculate the surface area of

the toy if height of the conical part is 12cm.

° Watch Video Solution

22. Three solid spheres of iron whose
diameters are 2cm, 12cm and 16cm,
respectively, are melted into a single solid

sphere. Find the radius of the solid sphere.

o Watch Video Solution



https://dl.doubtnut.com/l/_neYJhqEODFJh
https://dl.doubtnut.com/l/_uNUEyr2XIXNL

23. How many spherical lead shots each 4.2 cm
in diameter can be obtained from a

rectangular solid of lead with dimensions

22
66cm, 42cm, 21cm. (usew = 7)

o Watch Video Solution

24. A sphere of diameter 6cm is dropped in a
right circular cylindrical vessel partly filled with
water. The diameter of the cylindrical vessel is

12cm. If the sphere is completely submerged in


https://dl.doubtnut.com/l/_A1qLYxkp8vso
https://dl.doubtnut.com/l/_zUYUODCxwuCe

water, by how much will the level of water rise

in the cylindrical vessel?

° Watch Video Solution

25. A solid lead ball of radius 7cm was melted
and then drawn into a wire of diameter 0.2cm.

Find the length of the wire.

° Watch Video Solution



https://dl.doubtnut.com/l/_zUYUODCxwuCe
https://dl.doubtnut.com/l/_CTLXDoo5XwgR

26. A sphere, a cylinder and a cone are of the
same radius and same height. Find the ratio of

their curved surface.

o Watch Video Solution

27.Find the surface area and total surface area

of a hemisphere of radius 21cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_SkHlVglLcop6
https://dl.doubtnut.com/l/_yZaL5suk0DUc

28. Find the surface area of a sphere of radius

7cm.

° Watch Video Solution

29. The internal and external diameters of a
hollow hemispherical vessel are 24cm and
25cm respectively. The cost to paint 1 cm? the

surface is Rs. 0.05. Find the total cost to paint

22
the vessel all over. (Use T = 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_aKb0M3iudUX0
https://dl.doubtnut.com/l/_OQdOj7VeFKTS

30. The internal and external diameters of a
hollow hemi-spherical vessel are 24cm and
25cm respectively. The cost of paint one sq.cm
of the surface is 7 paise. Find the total cost to
paint the vessel all over. (ignore the area of

edge).

o Watch Video Solution

31. A right circular cylinder just encloses a

sphere of radius r as shown in figure. Find the


https://dl.doubtnut.com/l/_OQdOj7VeFKTS
https://dl.doubtnut.com/l/_rl895VNzLfwl
https://dl.doubtnut.com/l/_n3R6xpVYdv8b

l.surface area of the sphere ii curved surface
area of the cylinder iii. ratio of the area

obtained in (i) and (ii)

o Watch Video Solution

32. Show that the surface area of a sphere is
the same as that of the lateral surface of a
right circular cylinder that just encloses the

sphere.

° Watch Video Solution



https://dl.doubtnut.com/l/_n3R6xpVYdv8b
https://dl.doubtnut.com/l/_XOIZy9uZRjZG
https://dl.doubtnut.com/l/_ePZcHvmoGwk1

33. A cone, a hemisphere and a cylinder stand
on equal bases and have the same height.

Show that their volumes are in the ratio 1:2:3.

° Watch Video Solution

34. The largest sphere is carved out of a cube

of side 10.5 cm. Find the volume of the sphere.

o Watch Video Solution



https://dl.doubtnut.com/l/_ePZcHvmoGwk1
https://dl.doubtnut.com/l/_r2Z8aFg8VWHt

35. If the radius of a sphere is doubled, what is
the ratio of the volume of the first sphere to

that of the second sphere?

o Watch Video Solution

36. A spherical ball of lead 3cm in diameter is
melted and recast into three spherical balls. If
the diameters of two balls be Ecm and 2cm,
find the diameter of the third ball.

o Watch Video Solution



https://dl.doubtnut.com/l/_SPsg8RWIKzYw
https://dl.doubtnut.com/l/_NY04mH3fGRXB

37. Find the surface area of a sphere of radius

cm.

o Watch Video Solution

38. Find the total surface area of a hemisphere

of radius 21cm.

A. 4158cm?

B. 3500cm>

C. 4000cm?


https://dl.doubtnut.com/l/_NY04mH3fGRXB
https://dl.doubtnut.com/l/_nWOB43XhEMno
https://dl.doubtnut.com/l/_l3FPSOk9NrZG

D. None of above

Answer: A

o Watch Video Solution

39. The radius of a spherical balloon increases
from 7cm to 14cm as air is being pumped into
it. Find the ratio of surface areas of the

original balloon to the resulting new balloon.

° Watch Video Solution



https://dl.doubtnut.com/l/_l3FPSOk9NrZG
https://dl.doubtnut.com/l/_g6T8AXfgrMDz
https://dl.doubtnut.com/l/_vnUPMZA3jwLc

40. A sphere, a cylinder and a cone are of the
same radius and same height. Find the ratio of

their curved surface.

° Watch Video Solution

41. Show that the surface area of a sphere is
the same as that of the lateral surface of a
right circular cylinder that just encloses the

sphere.

o Watch Video Solution



https://dl.doubtnut.com/l/_vnUPMZA3jwLc
https://dl.doubtnut.com/l/_fmHLgiHkP8Xg

42. A right circular cylinder just encloses a
sphere of radius 7 as shown in figure. Find the
: surface area of the sphere curved surface

area of the cylinder ratio of the area obtained

in (i) and (ii)

o Watch Video Solution

43. A hemispherical bowl is made of steel, 0.25
cm thick. The inner radius of the bowl is 5 cm.

Find the outer curved surface area of the bowl.

| & I


https://dl.doubtnut.com/l/_1cnLR3nH07z8
https://dl.doubtnut.com/l/_QhFVSuYUW3wB

| ¥ Watch Video Solution |

44. The internal and external diameters of a
hollow hemispherical vessel are 24cm and
25cm respectively. The cost to paint lem? the

surface is Rs. 0.05. Find the total cost to paint

22
the vessel all over. | usemr = a

o Watch Video Solution

45. The internal and external diameters of a

hollow hemispherical vessel are 24cm and


https://dl.doubtnut.com/l/_QhFVSuYUW3wB
https://dl.doubtnut.com/l/_Ng6F6udIutbP
https://dl.doubtnut.com/l/_v0bR7duO5iT6

25cm respectively. The cost to paint 1lem? the

surface is Rs. 0.05. Find the total cost to paint

22
the vessel all over. | usemr = a

o Watch Video Solution

46. A storage tank consists of a circular
cylinder with a hemisphere adjoined on either
end. If the external diameter of the cylinder be
14m and its length be 8m, find the cost of
painting it on the outside at the rate of Rs. 10

per m?.



https://dl.doubtnut.com/l/_v0bR7duO5iT6
https://dl.doubtnut.com/l/_Lr3w6ZWr08FT

I 0 Watch Video Solution

47. A toy is in the shape of a right circular
cylinder with a hemisphere on one end and a
cone on the other. The height and radius of
the cylindrical part are 13cm and 5cm
respectively. The radii of the hemispherical and
conical parts are the same as that of the
cylindrical part. Calculate the surface area of

the toy if height of the conical part is 12cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_Lr3w6ZWr08FT
https://dl.doubtnut.com/l/_CFZpiTkj8Mqy

48. A wooden toy is in the form of a cone
surmounted on a hemisphere. The diameter of
the base of the cone is 5cm and its height is
4cm. Find the cost of painting the toy at the

rate of Rs. 5 per 1000cm?.

o Watch Video Solution

49, The diameter of a sphere is decreased by
25%. By what per cent does its curved surface

area decrease?

| & I


https://dl.doubtnut.com/l/_77uSo2dXPILQ
https://dl.doubtnut.com/l/_nPomtycFxYGO

| ¥ Watch Video Solution |

50. Find the surface area of a sphere of radius:

10.5 cm (i) 5.6 cm (iii)) 14 cm

o Watch Video Solution

51. Find the surface area of a sphere of

diameter: (i) 14 cm (ii) 21 cm (iii) 3.5 m

o Watch Video Solution



https://dl.doubtnut.com/l/_nPomtycFxYGO
https://dl.doubtnut.com/l/_W84ERSP3ddmL
https://dl.doubtnut.com/l/_lAPXWBUQN1Uh
https://dl.doubtnut.com/l/_fjTZTpj5RLBj

52. Find the total surface area of a hemisphere

of radius 10 cm

° Watch Video Solution

53. The surface area of a sphere is 5544 cm?,

find its diameter.

o Watch Video Solution

54. A hemispherical bowl made of brass has

inner diameter 10.5cm. Find the cost of


https://dl.doubtnut.com/l/_fjTZTpj5RLBj
https://dl.doubtnut.com/l/_hfBHN8iE63U0
https://dl.doubtnut.com/l/_w0Y2twJlMc0u

tinplating it on the inside at the rate of Rs. 4

per 100 cm?

° Watch Video Solution

55. The dome of a building is in the form of a
hemisphere. Its radius is 63dm. Find the cost

of painting it at the rate of Rs. 2 per sq.m.

° Watch Video Solution



https://dl.doubtnut.com/l/_w0Y2twJlMc0u
https://dl.doubtnut.com/l/_aHDH54Kol1tG

56. Assuming the earth to be a sphere of
radius 6370 km, how many square kilometres
is area of the land, if three-fourth of the earths

surface is covered by water?

o Watch Video Solution

57. A cylinder of same height and radius is
placed on the top of a hemisphere. Find the
curved surface area of the shape if the length

of the shape by 7cm.

| & |


https://dl.doubtnut.com/l/_W4O35HrrUDtg
https://dl.doubtnut.com/l/_nolA9mtEkWc2

| ¥ Watch Video Solution |

58. A wooden toy is in the form of a cone
surmounted on a hemisphere. The diameter of
the base of the cone is 16cm and its height is
15cm. Find the cost of painting the toy at

Rs.7 per 100 ecm?.

o Watch Video Solution

59. A storage tank consists of a circular

cylinder with a hemisphere adjoined on either


https://dl.doubtnut.com/l/_nolA9mtEkWc2
https://dl.doubtnut.com/l/_tpQ3Au5oAAzy
https://dl.doubtnut.com/l/_yjq3GBqcREMd

end. If the external diameter of the cylinder be
14m and its length be 8m, find the cost of
painting it on the outside at the rate of Rs. 10

per m>.

° Watch Video Solution

60. The diameter of the moon is approximately
one fourth of the diameter of the earth. Find

the ratio of their surface areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_yjq3GBqcREMd
https://dl.doubtnut.com/l/_mF10fzAO7ohH
https://dl.doubtnut.com/l/_raan89ssGpDg

61. A hemispherical dome of a building needs
to be painted (see Fig. 13.21). If the
circumference of the base of the dome is 17.6
m, find the cost of painting it, given the cost of

painting is Rs 5 per 100 cm?

o Watch Video Solution

62. The front compound wall of a house is
decorated by wooden spheres of diameter 21
cm, placed on small supports as shown in Fig

13.32. Eight such spheres are used for this


https://dl.doubtnut.com/l/_raan89ssGpDg
https://dl.doubtnut.com/l/_cFC9e6WyFeIA

purpose, and are to be painted silver. Each

support is a cylinder of radius

° Watch Video Solution

63. Find the volume of a sphere of radius 7cm.

° Watch Video Solution

64. Find the volume of hemisphere of radius

3.5cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_cFC9e6WyFeIA
https://dl.doubtnut.com/l/_2QT1lXATSoGn
https://dl.doubtnut.com/l/_ORmBu6PXkeXY

65. A hemispherical bowl is made of steel 0.5

cm thick. The inside radius of the bowl is 4cm.

° Watch Video Solution

66. A hemispherical bowl has inner diameter

11.2cm. Find the volume of milk it can hold.

o Watch Video Solution



https://dl.doubtnut.com/l/_ORmBu6PXkeXY
https://dl.doubtnut.com/l/_3sOmQH4wVTzp
https://dl.doubtnut.com/l/_Y5mx8kOgkt4C

67.Find the volume of a sphere whose surface

area is 154 cm?

° Watch Video Solution

68. The volume of the two spheres are in the
ratio 64:27. Find the difference of their surface

areas, if the sum of their radii is7.

° Watch Video Solution



https://dl.doubtnut.com/l/_GUoKiMmnR26S
https://dl.doubtnut.com/l/_BlWkrct9oyPV

69. Find the volume and the total surface area

of a hemisphere of radius 35 cm.

oo — 22
8671'—7

° Watch Video Solution

70. A solid sphere of radius 3cm is melted and
then cast into small spherical balls each of
diameter 0.6cm. Find the number of balls thus

obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_He8qkrdW6v6I
https://dl.doubtnut.com/l/_UtgLn8eyBgVb

71. How many spherical bullets can be made
out of a solid cube of lead whose edge

measures 44 cm, each being 4 cm in diameter.

o Watch Video Solution

72. How many spherical lead shots each 4.2 cm
in diameter can be obtained from a

rectangular solid of lead with dimensions

22
66cm, 42cm, 21cm. (’U,SBﬂ' = 7)

l o Watch Video Solution ‘


https://dl.doubtnut.com/l/_UtgLn8eyBgVb
https://dl.doubtnut.com/l/_D7eHH3W5iseo
https://dl.doubtnut.com/l/_Flctfk0yit6q

73. Three solid spheres of iron whose
diameters are 2cm, 12cm and 16cm,
respectively, are melted into a single solid

sphere. Find the radius of the solid sphere.

o Watch Video Solution

74. A solid lead ball of radius 7cm was melted
and then drawn into a wire of diameter 0.2cm.

Find the length of the wire.



https://dl.doubtnut.com/l/_Flctfk0yit6q
https://dl.doubtnut.com/l/_qDcyLDTdnhYO
https://dl.doubtnut.com/l/_tYmPm2vQNwxw

o Watch Video Solution

75. A solid sphere of radius 1cm is melted to
stretch into a wire of length 100 cm. Find the

radius of the wire.

o Watch Video Solution

76. A sphere of diameter 6cm is dropped in a
right circular cylindrical vessel partly filled with

water. The diameter of the cylindrical vessel is


https://dl.doubtnut.com/l/_tYmPm2vQNwxw
https://dl.doubtnut.com/l/_Uho0wHdl0GTp
https://dl.doubtnut.com/l/_LjMaSdY9RXA7

12cm. If the sphere is completely submerged in
water, by how much will the level of water rise

in the cylindrical vessel?

° Watch Video Solution

77. A hemisphereical bowl of internal diameter
36cm contains a liquid. This liquid is to be
filled in cylindrical bottles of radius 3cm and
height 6cm. How many bottles are required to

empty.

° Watch Video Solution



https://dl.doubtnut.com/l/_LjMaSdY9RXA7
https://dl.doubtnut.com/l/_IDA9lblTQfIz

78. The largest sphere is carved out of a cube

of a side 7cm. Find the volume of the sphere.

° Watch Video Solution

79. A hemisphere of lead of radius 8cm is cast
into a right circular cone of base radius 6cm.
Determine the height of the cone, correct to

two places of decimal.

o Watch Video Solution



https://dl.doubtnut.com/l/_IDA9lblTQfIz
https://dl.doubtnut.com/l/_L4yaTVVZE8mo
https://dl.doubtnut.com/l/_f42Cgn1Z0fCD

80. A spherical cannonball 28 cm in diameter is
melted and cast into a right circular cone
mould, whose base is 35 cm in diameter. Find

the height of the cone.

o Watch Video Solution

81. A cylindrical container of radius 6 cm and
height 15 cm is filled with ice-cream. The whole
ice-cream has to be distributed to 10 children

in equal cones with hemispherical tops. If the


https://dl.doubtnut.com/l/_OrN85fwiwaU2
https://dl.doubtnut.com/l/_0HFGJStkcclN

height of the conical portion is four times the
radius of its base, find the radius of the ice-

cream cone.

° Watch Video Solution

82. A solid wooden toy is in the shape of a
right circular cone mounted on a hemisphere.
If the radius of the hemisphere is 4.2 cm and
the total height of the toy is 10.2 cm, find the

volume of the wooden toy.

° Watch Video Solution



https://dl.doubtnut.com/l/_0HFGJStkcclN
https://dl.doubtnut.com/l/_WZp0AgbWlOGb

83. Twenty seven solid iron spheres, each of
radius r and surface area S are melted to form
a sphere with surface area S’- Find the (i)

radius " of the new sphere, (ii) ratio of

S\ and\ S’

° Watch Video Solution

84. Find the volume of a sphere whose radius

is: 2cm (i) 3.5cm  (iii) 10.5 cm

l ° Watch Video Solution


https://dl.doubtnut.com/l/_WZp0AgbWlOGb
https://dl.doubtnut.com/l/_icfZnwppFUK0
https://dl.doubtnut.com/l/_8h2iA0kfhEFQ

85. Find the volume of a sphere whose

diameter is: 14cm (i) 3.5dm (iii)) 21 m

o Watch Video Solution

86. A hemispherical tank has inner radius of

2.8m. Find its capacity in litres.

° Watch Video Solution



https://dl.doubtnut.com/l/_8h2iA0kfhEFQ
https://dl.doubtnut.com/l/_rz3kWNs7MLv0
https://dl.doubtnut.com/l/_ec4XcNIyJffk

87. A hemispherical bowl is made of steel, 0.25
cm thick. The inner radius of the bowl is 5 cm.

Find the outer curved surface area of the bowl.

o Watch Video Solution

88. How many bullets can be made out of a
cube of lead whose edge measures 22 cm,
each bullet being 2 cm in diameter? (a) 1347

(b) 2541 (c) 2662 (d) 5324

o Watch Video Solution



https://dl.doubtnut.com/l/_h264AGGmuUZ9
https://dl.doubtnut.com/l/_rAvatMHCswrs

89. A shopkeeper has one laddoo of radius
5cm. With the same material, how many

laddoos of radius 2.5cm can be made.

o Watch Video Solution

90. A spherical ball of lead 3cm in diameter is
melted and recast into three spherical balls. If
the diameters of two balls be Ecm and 2cm,

find the diameter of the third ball.

o Watch Video Solution



https://dl.doubtnut.com/l/_rAvatMHCswrs
https://dl.doubtnut.com/l/_FEgL2nVpV81Q
https://dl.doubtnut.com/l/_BnFDuUxyRhVv

91. A sphere of radius 5cm is immersed in
water filled in a cylinder, the level of water

rises 3o Find the radius of the cylinder.

o Watch Video Solution

92. If the radius of a sphere is doubled, what is
the ratio of the volume of the first sphere to

that of the second sphere?

o Watch Video Solution



https://dl.doubtnut.com/l/_BnFDuUxyRhVv
https://dl.doubtnut.com/l/_SXTb020Qezh5
https://dl.doubtnut.com/l/_s0nH8JwPiL9D

93. A cone and a hemisphere have equal bases
and equal volumes. The ratio of their heights

is

o Watch Video Solution

94. A vessel in the form of a hemisphereical
bowl is full of water. The contents are emptied
into a cylinder. The internal radii of the bowl
and cylinder are respectively 6cm and 4cm.

Find the height of water in the cylinder.


https://dl.doubtnut.com/l/_s0nH8JwPiL9D
https://dl.doubtnut.com/l/_7pZSQkZaeyb4
https://dl.doubtnut.com/l/_iZfn6BwBUZNG

o Watch Video Solution

95. A cylinder whose height is two thirds of its
diameter, has the same volume as a sphere of
radius 4cm. Calculate the radius of the base of

the cylinder.

o Watch Video Solution

96. A vessel in the form of a hemisphereical

bowl is full of water. The contents are emptied


https://dl.doubtnut.com/l/_iZfn6BwBUZNG
https://dl.doubtnut.com/l/_daP6vfXVfYNJ
https://dl.doubtnut.com/l/_Wh1DM0uj8pXI

into a cylinder. The internal radii of the bowl
and cylinder are respectively 6cm and 4cm.

Find the height of water in the cylinder.

° Watch Video Solution

97. A cylindrical tub of radius 16cm contains
water to a depth of 30cm. A spherical iron ball
is dropped into the tub and thus level of water
is raised by 9cm. What is the radius of the

ball?

° Watch Video Solution



https://dl.doubtnut.com/l/_Wh1DM0uj8pXI
https://dl.doubtnut.com/l/_HP14hPr4Zoe5

98. A cylinder of radius 12cm contains water to
a depth of 20cm. A spherical iron ball is
dropped into the cylinder and thus the level of

water is raised by 6.75 cm. Find the radius of

22
the ball. (usew = 7)

o Watch Video Solution

99. The diameter of a copper sphere is 18 cm.

The sphere is melted and is drawn into a long


https://dl.doubtnut.com/l/_HP14hPr4Zoe5
https://dl.doubtnut.com/l/_UR6DZHIv3V22
https://dl.doubtnut.com/l/_nsIATeoVi4Rm

wire of uniform circular cross-section. If the

length of the wire is 108 m, find its diameter.

o Watch Video Solution

100. A cylindrical jar of radius 6 cm contains
oil. Iron spheres each of radius 1.5 cm are
immersed in the oil. How many spheres are
necessary to raise the level of the oil by two

centimetres?

o Watch Video Solution



https://dl.doubtnut.com/l/_nsIATeoVi4Rm
https://dl.doubtnut.com/l/_te9e7jFbbRDw
https://dl.doubtnut.com/l/_3KeH2gKRWDpM

101. A measuring jar of internal diameter 10cm
is partially filled with water. Four equal
spherical balls of diameter 2cm each are
dropped in it and they sink down in water
completely. What will be the change in the

level of water in the jar?

o Watch Video Solution

102. The diameter of a sphere is 6cm. It is
melted and drawn into a wire of diameter 0.2

cm. Find the length of the wire.


https://dl.doubtnut.com/l/_3KeH2gKRWDpM
https://dl.doubtnut.com/l/_PvG9zAjwleqq

° Watch Video Solution

103. The radius of the internal and external
surface of a hollow spherical shell are 3cm and
5cm respectively. If it is melted and recast into
a solid cylinder of height 2§cm- Find the

diameter of the cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_PvG9zAjwleqq
https://dl.doubtnut.com/l/_ATRup0UruyaZ

104. A hemisphere of lead of radius 7 cm is
cast into a right circular cone of height 49cm.

Find the radius of the base.

o Watch Video Solution

105. A hollow sphere of internal and external
radii 2 cm and 4 cm respectively is melted into
a cone of base radius 4 cm. Find the height

and slant height of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_U0WZKhmsUjDM
https://dl.doubtnut.com/l/_UEoKWinoYRC8

106. A metallic sphere of radius 10.5 cm is
melted and recast into small right circular
cones, each of base radius 3.5 cm and height 3
cm. The number of cones so formed is (a) 105

(b) 113 (c) 126 (d) 135

o Watch Video Solution

107. A cone and a hemisphere have equal
bases and equal volumes. Find the ratio of

their heights.


https://dl.doubtnut.com/l/_UEoKWinoYRC8
https://dl.doubtnut.com/l/_51yOvNG2y8yX
https://dl.doubtnut.com/l/_Dc5JtLjWW1SC

o Watch Video Solution

108. A cone, a hemisphere and a cylinder stand
on equal bases and have the same height.

Show that their volumes are in the ratio 1:2:3.

o Watch Video Solution

109. A cylindrical tub of radius 12 cm contains
water to a depth of 20 cm. A spherical ball is

dropped into the tub and the level of the


https://dl.doubtnut.com/l/_Dc5JtLjWW1SC
https://dl.doubtnut.com/l/_KqlfDP7BAosy
https://dl.doubtnut.com/l/_D0fsRcJHjSMv

water is raised by 6.75 cm. Find the radius of

the ball.

° Watch Video Solution

110. The larges sphere is carved out of a cube

of side 10.5 cm. Find the volume of the sphere.

o Watch Video Solution

111. A sphere, a cylinder and a cone have the

same radius and same height. Find the ratio of


https://dl.doubtnut.com/l/_D0fsRcJHjSMv
https://dl.doubtnut.com/l/_OXjw1AfQV3nI
https://dl.doubtnut.com/l/_wJ6n68etJj22

their volumes.

o Watch Video Solution

112. The diameter of a sphere is decreased by
25%. By what percent its curved surface area

decrease?

o Watch Video Solution

113. A hemispherical tank is made up of an iron

sheet 1 cm thick. If the inner radius is 1 m, then


https://dl.doubtnut.com/l/_wJ6n68etJj22
https://dl.doubtnut.com/l/_ipYmM3SOJry1
https://dl.doubtnut.com/l/_XCP7IKGitl1X

find the volume of the iron used to make the

tank

° Watch Video Solution

114. A capsule of medicine is in the shape of a
sphere of diameter 35 mm. How
muchMedicine ( e mm?>) is needed to fill this

capsule?

o Watch Video Solution



https://dl.doubtnut.com/l/_XCP7IKGitl1X
https://dl.doubtnut.com/l/_re86u57X8oDV

115. The diameter of the moon s
approximately one-fourth of the diameter of
the earth. What fraction of the volume of the

earth is the volume of the moon?

° Watch Video Solution

116. Find the surface area of a sphere of radius

14cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_XC4QkYpndnrs
https://dl.doubtnut.com/l/_3JU9OBK3Ma3J
https://dl.doubtnut.com/l/_toS1j23YttkT

117. Find the total surface area of a

hemisphere of radius 10 cm

o Watch Video Solution

118. Find the radius of a sphere whose surface

area is 154 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_toS1j23YttkT
https://dl.doubtnut.com/l/_yqMvoYQxnLZO

119. The hollow sphere, in which the circus
motorcyclist performs his stunts, has a
diameter of 7 m. Find the area available to the

motorcyclist for riding.

° Watch Video Solution

120. Find the volume of a sphere whose

surface area is 154 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_NzBBkipbGZ7X
https://dl.doubtnut.com/l/_Y6nooefqPVpC
https://dl.doubtnut.com/l/_zh1M5HKk3g5T

121. How many spherical bullets can be made
out of a solid cube of lead whose edge
measures 44 cm, each bullet being 4 cm in

diameter?

° Watch Video Solution

122. If a sphere of radius 2r has the same
volume as that of a cone with circular base of

radius r, then find the height of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_zh1M5HKk3g5T
https://dl.doubtnut.com/l/_G3BPY83mCbd7

123. A metallic spherical shell of internal and
external diameters 4 cm and 8 cm respectively
is melted and recast into the form a cone of

base diameter 8 cm The height of the cone is

o Watch Video Solution

124. The surface area of a sphere of radius 5
cm is five times the curved surface area of a

cone of radius 4 cm. Find the height and


https://dl.doubtnut.com/l/_NUk0APCzfFx4
https://dl.doubtnut.com/l/_nprDZF4XGCjr

volume (correct to two decimal places) of the

cone.

° Watch Video Solution

125.In a sphere is inscribed in a cube, find the
ratio of the volume of cube to the volume of

the sphere.

° Watch Video Solution



https://dl.doubtnut.com/l/_nprDZF4XGCjr
https://dl.doubtnut.com/l/_Y2HaiBhPqROj

126. In a sphere the number of faces is 1

(b) 2 (¢) 3 (d) 4

o Watch Video Solution

127. The total surface area of a hemisphere of

radius 7 is w2 (b) 2772 (c) 3wr? (d) 4nr?

o Watch Video Solution



https://dl.doubtnut.com/l/_vS8sITaNkeVX
https://dl.doubtnut.com/l/_IkcNB27mRnrJ

128. The ratio of the total surface area of a

sphere and a hemisphere of same radius is

A2:1

B.3:2

C.4:1

D.4:3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iQiDHX7hRgvr
https://dl.doubtnut.com/l/_iuYSTKeBlzTm

129. A sphere and a cube are of the same
height. The ratio of their volumes is 3:4

(b) 21:11 (c) 4:3 (d) 11:21

o Watch Video Solution

130. The largest sphere is cut off from a cube

of side 6cm. The volume of the sphere will be

27t em® (b) 36wem® (¢) 108w em®  (d)

127 em?

o Watch Video Solution



https://dl.doubtnut.com/l/_iuYSTKeBlzTm
https://dl.doubtnut.com/l/_s2IwnUfrptC2
https://dl.doubtnut.com/l/_ynDQpVdZqTAx

131. A cylindrical rod whose height is 8 times of
its radius is melted and recast into spherical
balls of same radius. The number of the balls

will be

o Watch Video Solution

132. If the ratio of volumes of two spheres is
1:8, then the ratio of their surface area is

1:2 (b) 1:4 (c) 1:8 (d) 1:16

o Watch Video Solution



https://dl.doubtnut.com/l/_ynDQpVdZqTAx
https://dl.doubtnut.com/l/_83NreIfPVmWI

133. If the surface area of a sphere is 1447 m?,

then its volume ( € m?®) is 288 (b) 316 7 (c)

300 7 (d) 188 7

o Watch Video Solution

134. If a solid sphere of radius 10 cm is
moulded into 8 spherical solid balls of equal

radius, then the surface area of each ball is

50m em?® (b)) 60mem?® (¢) Thmem?  (d)

1007 em?



https://dl.doubtnut.com/l/_83NreIfPVmWI
https://dl.doubtnut.com/l/_6S10SN8lvhBh
https://dl.doubtnut.com/l/_8Pogmn6sH3LJ

o Watch Video Solution

135. The ratio between the volume of a sphere
and volume of a circumscribing right circular
cylinder is 2:1 (b) 1:1 (c) 2:3 (d)

1:2

o Watch Video Solution

136. The ratio of the volume of a cube to that

of sphere so that the sphere will fit inside the


https://dl.doubtnut.com/l/_8Pogmn6sH3LJ
https://dl.doubtnut.com/l/_SKamPo33cdnb
https://dl.doubtnut.com/l/_CgJBeoBNmCM7

cube is

Ad:rm

B.4: 3w

C.O6:m

D.2:7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CgJBeoBNmCM7

137. A solid sphere of radius r is melted and
cast into the shape of a solid cone of height r,

the radius of the base of the cone is

B. 2r

C.3r

D. 4r

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l8NtoNtXVq70

138. A sphere is placed inside a right circular
cylinder so as to touch the top, base and
lateral surface of the cylinder. If the radius of
the sphere is r, then the volume of the

. . 3 8 3 3 3
cylinder is 47 r° (b) §7r r°(c) 2w r° (d) 8 r

o Watch Video Solution

139. A cone and a hemisphere have equal

bases and equal volumes the ratio of their

heights is 1:2 (b) 2:1(c) 4:1(d) \/5 .1

| & I


https://dl.doubtnut.com/l/_W0VwwWlHVXCb
https://dl.doubtnut.com/l/_kTj2RSH8VrnI

| ¥ Watch Video Solution |

140. A cone, a hemisphere and a cylinder stand
on equal bases and have the same height.

Show that their volumes are in the ratio 1:2:3.

o Watch Video Solution



https://dl.doubtnut.com/l/_kTj2RSH8VrnI
https://dl.doubtnut.com/l/_TEWdxY90GkQZ

